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Let Y, and Y, be discrete random variables with bivariate probabil-
ity mass (or density) function as

(1)Please find the marginal probability mass functions of Y; and Y,.

(2)Please find the conditional probability mass functions of Y, given

Y,=y, and Y, given Y, =y,. (9538t £25%)

L J/

SOIE

+
D fG) =3 f(p,) =Y AT
¥ V2 9
_y1+0+y1+1_2y1+1

9 9 9

» =0,12



44 Hstg (L)

o)=Y f(yy) =38t

9
!
:&+l+y2+2+y2 :3(1+y2):1+y2 'y, =0,1
9 9 9 9 3

DFY, BATF » Y, 2 R B S
Nty

, +

FOorly=LUed) o 0 MER 100,200

fy) Iy 31+y,)

3
Y BT 0 Y, 2 I H S
Nt

S0,) 9 Nt
= = = ’ :O’l’ :0’1’2
Sl ) 2y, +1 2y, +1 V2 Vi

9
BlF 2
Let P(x)=% ' x=1,2,3 and P(y|x)=%,y:x,x+1 ..... 3
Find the probability mass function of Y. (1003 X 814(2)10% )
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If the joint probability distribution of X and Y is given by:
f(x,y)=c(x*+y?) for x=-1013; y=-123
(DFind the value of c.

2Find P(X+Y >2). (998 K 84#10% )
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Let Y, and Y, have the joint probability density function given by

k(1-y,) 0<y,<y, <1
f(y,y,)=
SR { 0 » otherwise

Find:
1) k.




